®opéag: YIIOYPIEIO MAIAEIAZ & OPHIKEYMATQN (YTMAIO)
Yrnpeoia: AIEONEZ MANEMIZTHMIO THZ EAAAAOX (AIMNAE)

Edpa Yrmpeoiag: OEEZZANONIKH i BB B2 2
Aidpkeia Z0pRaong: 8 MHNEZ
MPOZAHWH MPOZQMIKOY ME LYMBAZH OPIZMENOY XPONOY
MNINAKAZ KATATAZHZI & BAOGMOAOTIAZ
NPOIAHNTEQN KATHIOPIAZ YE
KQAIKOZX OEZHZ : 105 (Xeppwv)
EidikétnTa : NMPOIQMNIKO KAGAPIOTHTAX
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18440/21-10-2021 |NAMNAAONOYAQY EAENH AOANAZIOZ 1.802,00 1
17951/19-10-2021 NAXZTPAAINH AOANAZIA AHMHTPIOZ 1.728,00 2
18948/25-10-2021 |PAMNAAH Z00IA EYAITEAO2 1.678,00 3
19243/27-10-2021 |XAPAKATZANOY MAPIANGH ANTQNIOZ 1.678,00 4
18644/22-10-2021 KAIAMTA MAPIA AOANAZIOZ 1.668,00 5
17649/15-10-2021 MANAEAA JODIA NIKOAAOZ 1.628,00 6
18160/20-10-2021 |AOO®OYAH BAZIAIKH XAPAAAMNOZ 1.628,00 7
18213/20-10-2021 |XATZHABPAMIAHZ ANAZTAZIOZ NIKOAAOZ 1.628,00 8
18393/21-10-2021 |AZEMAAIAOY ONTA IQANNHZ 1.628,00 9
18658/22-10-2021 |TAYAAPIAOY BAZIAIKH 2TAYPOZ 1.628,001 10
18967/25-10-2021  |2TEPTIANA BAITA FEQPTIOX 1.628,00] 11
18105/20-10-2021 NTEAMENTEPH EAEYOEPIA MANTEAHZ 1.609,00| 12
18729/22-10-2021 KAAKANH MEAATIA ANAXTAZIO2 1.589,00| 13
18865/25-10-2021 MOBANH EIPHNH Al 1.552,00] 14
17720/18-10-2021 KQONZTA EIPHNH rEQPTIOZ 1.530,00| 15
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